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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(2) Use of simple calculator is allowed.

1 What is Interview? Point out the task of interviewer. 14

1 Discuss the problems of survey planning.

OR

2 Find out of Standard Deviation :

2 Write short notes : (Two)

(1) Types and Classification of Co-relation

(2) Uses of mean and median
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No. Class f
1 | 65 69 1
2 | 60 64 3
3 |55 59 3
4 | 50 54 4
5 | 45 49 3
6 | 40 44 8
7 | 35 39 |12
8 | 30 34 6
9 | 25 29 4
10 | 20 24 7
11 | 15 19 6
12 | 10 14 4
13 9 3
14 1
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The advantages and limitation of Questionnaire in detail. 14
OR
Following resultS are two Groups 14
"Is there any Significant Difference between Two Groups
result mean?"
W Group | W (N) | s (M) [w.l.(o)
Junior 40 30 4.50
Senior 30 22 6.00
(0.05 Level 1s t value 1.96)
4  Write short note : (Two) 14
(1) Types of Interview
(2) Calculate of Co-relation
A : 52, 48, 68, 53, 37, 45, 62, 70, 26, 50.
B : 57, 62, 63, 49, 37, 55, 72, 70, 39, 50.
5 Write short note : (Any Two) 14

(1) Word formation in questionnaire
(2) What 1s Survey method?

(3) Formal interview.

(4) Find Quartile Deviation

Class-interval | Frequency f | Class-interval | Frequency f

00-04 1 30-34 6

05 - 09. 3 35-39 4

10-14. 5 40— 44 3

15-19 8 45-49 1

20-24 12

25-29 7 N = 50
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